Fast Money

Investigating
Australian

INS

Use the money sums below to get you started in a game of Bang bang!

$2 + 50 cents = $2.50

Four one dollar coins = $4

Two 50 cent pieces = $1

10 cents + 50 cents = 60 cents
Four 10 cent pieces = 40 cents
$1 + 20 cents = $1.20

How many 5 cent pieces make $2 = 40
$2.50 + 50 cents = $3

$1.20 + $1 = $2.20

$2 + 10 cents + 50 cents = $2.60
$2 +$2=9%4

$2.40 + 50 cents = $2.90

How many 10 cent pieces make $1? = 10
50 cents + $1.20 = $1.70

20 cents + $2.40 = $2.60

$1 — 20 cents = 80 cents

$2 — 50 cents = $1.50

$2 - %1 =91

$2 — $1 — 10 cents = 90 cents

$2 — 20 cents = $1.80

$2 — 10 cents = $1.90

$2 — 5 cents = $1.95

50 cents — 20 cents = 30 cents

20 cents — 5 cents = 15 cents
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50 cents — 5 cents = 45 cents
50 cents — 10 cents = 40 cents
50 cents — 50 cents = 0 cents
20 cents — 10 cents = 10 cents
20 cents — 20 cents = 0 cents
10 cents — 5 cents = 5 cents
10 cents — 10 cents = 0 cents
$1 — 50 cents = 50 cents

$1 - 10 cents = 90 cents

$1 — 5 cents = 95 cents
$1-9%1=0cents

5 cents — 5 cents = 0 cents

$2 — $1 — 50 cents = 50 cents

What Australian animal is found on the
reverse side of the 20 cent coin?

Answer: Platypus

What image is always found on the obverse
side of coins?

Answer: Her Majesty Queen Elizabeth Il

What image is found on the reverse side of
the 50 cent coin?

Answer: The Australian Coat of Arms

What Australian animal is found on the
reverse side of the 5 cent coin?

Answer: Echidna.



